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CHEMISTRY

Section Id : 70660957
Section Number : 1

Section type : Online
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Number of Questions : 34
Number of Questions to be attempted : 34
Section Marks : 34

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 70660985
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 7066094659 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The correct increasing order of bond angle is
004 §7e0sk DHOR JORY b Sensjaho.
Options :

C0y, SO>. BF3. CHy

70660918533, #

CH4. SO». BF3, CO

70660918534, « i

~ BF3. CHy, CO», SO

&

70660918535.

CO», CHy. BF3. SO

#

70660918536.

Question Number : 2 Question Id : 7066094660 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



The correct order of Magnetic moment of Cr'” Mn™, Fe™, Co” is
woh)08 ([Frabsnd Cr'2, Mn™, Fe™?, Co™ o $H08 S80S (Sababo
GIWMORWE

Options :

8 98 12, +2
70660918537, # Fe™> Co™ >Mn">Cr

=, R BB e gAEND
Mn“>Fe ">Co " >Cr

70660918538, ¥
2 32— 2~ +3
70660918539, v Mn' ~ > Cr Fe Co

4% . 12 +2
=\ - >{r
70660918540. % Ca i He Cr

Question Number : 3 Question Id : 7066094661 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The radius of fourth Bohr orbit in He atom 1s

He S&3mesy gy oS §56°0 788K Tgago
Options :
70660918541, ¥ 0T

70660918542, 8 Io

Lo

70660918543, #

21

70660918544, #

Question Number : 4 Question Id : 7066094662 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Which of the following Oxides has highest acidic character?
& Bod TES° whE uPH JirSoD o) «FYE A8 ?

Options :

HCIO,

70660918545, +

H;PO,

70660918546, #

HCIO,

70660918547, #

70660918548, # H3P02

Question Number : 5 Question Id : 7066094663 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The hybridization of Xe in XeQy, 1s
Xe0y &° Xe J08856TI50%0 Senyedn.
Options :

sp’d

70660918549, #

Sp3 dZ

70660918550. #

sp’

70660918551. +

b2

70660918552, #

Question Number : 6 Question Id : 7066094664 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
what 1s the oxidation state of S in Oleum
oo (Oleum) &° S Bwg), «§EELE 8 ?
Options :
70660918553, ¢ T O

+5
70660918554, %

+4

70660918555, #

+8
70660918556, #

Question Number : 7 Question Id : 7066094665 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which among the following alkali metal carbonates liberates CO, gas on
thermal decomposition.

3 OB HIS® & Bod Senlwds g£d St 873 COy ooy
SeNSEH00

Options :

Nﬂg‘CO b

70660918557. #

Ky(CO;5

70660918558, #

L1,CO;

70660918559. +



Rb,CO;

70660918560. #

Question Number : 8 Question Id : 7066094666 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Zirconium and Hafnium have same 1onic radius. It 1s due to

2SEAHS HOCH SSIHDe) TS YOI FHFESD  EYANODHD.

=8 Ne soG@n.

Options :
Common +4 oxidation state
SIS + 4 wl\EST 8
70660918561, ¥ 2 o ®
Lanthanide contraction
o838 Jo8ISw
70660918562, ¥ B
Both belong to the same group

o e 2B (S & JobSD
70660918563, # =

Both are f-block elements

0660018564, % COBT EFE f-ef Srosen

Question Number : 9 Question Id : 7066094667 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Identify the INCORRECT statement
& (808 ES® SSYD FegadaDd MHBoSod

Options :



Hybridization of boron in Diborane is sp3

70660918565, % ZSBS S° FTovS SogBEET SP3

Only four hydrogens in diborane can be methylated

. B33 Bl e PE S 6y O E8m0 ToAIE
70660918566.

All hydrogen atoms in diborane are coplanar
®Q) ITE S SoSrmIer FTBIS aBiDSwNSD
70660918567, ¥

Diborane hydrolyses to give boric acid and hydrogen gas
ZST8SS modiioa IvIHD 5705 s DB (¢ nSToina

oNPOod.
70660918568, %

Question Number : 10 Question Id : 7066094668 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The number of P-P bonds present in P4 molecule are
P4 :036°0 P-P woore Sowg
Options :

6
70660918569, ¥

8

70660918570, #

70660918571, #

2
70660918572, #



Question Number : 11 Question Id : 7066094669 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The EAN of Cobalt n [Co(NH;)6]Cl; 15
[CoNH:)s|CL &°0 Co gy (K708 S8y Sowg (EAN) Qo 2

Options :

(ad
fhn

70660918573, #

fad
EEN

70660918574, #

)
o)

70660918575, ¥

46

70660918576. ¥

Question Number : 12 Question Id : 7066094670 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

K,C1,0; 1s colored due to
Ky(C1,0;G3008), 6omg Ao so6Tato

Options :

Metal to ligand charge transfer
S D08 BrosIH «lF S84
70660918577, %

Ligand to metal charge transfer

Srol $H0& STHDND I8 \8
70660918578, & “— >

Metal to metal charge transfer

S50 Hod PN ISH «IF Ho8NE
70660918579, # ®



d-d transition

d-d S8-&
70660918580, % =

Question Number : 13 Question Id : 7066094671 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

One mole of an ideal gas at 300K 1s expanded 1sothermally reversibly from
an initial volume of 1litre to 10 liters. The AE (Qhange 1n 1nternal energy)

for this process 1S (R =2cal mol'K™)

2.8 S8 BT D0 300K SG SIS ﬂ':ja,_.aﬁseﬁoﬁar?avgé‘m‘jw ToBIHE®
$.5. 1 dw8 08 100 o358 wond AE & Sy D B§ovod
(R=2calmolK™)

Options :

163.7 cal

70660918581, #

Zero
70660918582, ¢

1381.1cal

70660918583, #

9 lit atm
70660918584, #

Question Number : 14 Question Id : 7066094672 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



40ml of HCl solution is required to titrate 0.2M Ca(OH), solution. How
much volume of HC1 1s required to titrate 0.4M KOH solution.

0.2M Ca(OH), [eairshoch sofarsss Soveos 40ml HCl (gaeao
93380308, 0.AM KOH (e 50350085 FoHE08 =I08I
HCl (e $55305m800 oS ?
Options :

20ml

70660918585, #

30ml

70660918586. #

25ml

70660918587, #

40ml

70660918588, ¥

Question Number : 15 Question Id : 7066094673 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following factors doesn’t disturb the equilibrium state of the
following reaction.
Na(g) + 3Hy(g)

=—2NH;(g)

R S5 S S8R & $08 Q soi [$TrdSSn IcH.

[
Options :

Change m Concentration of reactants

oSy MESS® S
70660918589. ¥



Change of Pressure

BESS® Soehn
70660918590. ¥ w

Addition of mert gas at constant pressure
& &30 S BET WD FOBIHED
70660918591, ¥

Addition of Catalyst

&@ﬂ-g&oé; EDHIE
70660918592, ¢ o

Question Number : 16 Question Id : 7066094674 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is an Intensive Property?
& $od FES* K-S S B ?

Options :
Entropy
SalaSE e,
70660918593, ¥ o[
Enthalpy
&oc;?@;,

70660918594, #

Boiling Point
TENESS FI
70660918595. ¥ '

Gibbs energy

A D) 3§

L

70660918596. #



Question Number : 17 Question Id : 7066094675 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which one of the following expressions represents the electron probability
function?
& (808 85T QoS Jozrdyd (HcHDd Sws) Soosto

Options :
Axrdry 2

70660918597, ¥

r}
drr=dry
70660918598, %

4;?;*20’;*;113

70660918599, #

drr dry

70660918600. +

Question Number : 18 Question Id : 7066094676 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The number of components, phases and degrees of freedom respectively in

the following equilibrium system

CaCOs(s) CaO(s) +CO,(g)
R 3Derd8 SE6008N HNSD, [PSgud $HooH [0Sy Heabe
;’:caaga::&; 35@&3:&0 |
Options :

321
70660918601 *



2
%]
(]

70660918602, #

-2
(%)
.

70660918603. ¥

70660918604, #

Question Number : 19 Question Id : 7066094677 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Match List-I with List-II
List-I & List-II PLo° WSS

List-I List-IT
Chemical reaction Name of process
EFDHD8 500 S8 B
I. 4NH3 + 507 —%> 4NO + 6H»O A) Contact process

¢ (S(acs
Ve e

II. 4HC1+ Oy —% 2Cly + 2H>0 B) Ostwald's process

sS>E (580D
= [T

[M1.2S0y + 0Oy — 5% 4 2803 C) Deacon's process
LN |'5.>|§O‘53

IV.2N> + 3Hy —Z2£ 5, 2NH3 D) Haber's process

b (S8
Options :



I-A, II-B, III-D, IV-C

70660918605. #

[-B, II-C, III-A, IV-D
70660918606. ¥

I-A, II-D, ITII-C, IV-B

70660918607, #

I-A, TI-C, III-B, IV-D

70660918608, #

Question Number : 20 Question Id : 7066094678 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Find the number of Tetrahedral and Octahedral voids present in FCC
Face Centred Cube (FCC) &% Sgroap(6d Sbobo egp/dd Voide Sowg
L ISVRAY

Options :

2,4

70660918609. ¥
70660918610, v S5 4
4,8

70660918611. %

2,8
70660918612, ¥ <

Question Number : 21 Question Id : 7066094679 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Inareacion A+B —— C + D on doubling the concentration of A and B rate

icreases two times and on doubling the concentration of only B the rate

remains the same. What is the order of the reaction?

2.8 ECHE S8 A+B—~C+D &° A S8ch B midos 2o
SIS LTy Sen o Bep BOWDS0S Hdcse B SwE), MESOD 6‘%@5@
SRSHD Ben BESWP HODD wond IE EaTrosd Swaysn.

Options :
70660918613, ¢

)
70660918614, ¥

%
)
70660918615, #

0

70660918616. #

Question Number : 22 Question Id : 7066094680 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The reagents, NH4Cl and aqueous NH3 will precipitate
NH4Cl oot NH3 so (S so8erer 2888 8IS,
Options :

CaZt

70660918617. %

Al3+
70660918618,

B3+
70660918619, ¥



Mg
70660918620, # =

Question Number : 23 Question Id : 7066094681 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following 1s an optically inactive amino acid?
& 808 QDS uP0S® B (HSe (25D (56580 FED
Options :
Alanine

= o & S
©eded
70660918621, % o

Glycine
BES
70660918622, ¢

Tryptophan

8,5
|¢JQJ ol
70660918623, ¥ =

Tyrosine
85863

70660918624, #

Question Number : 24 Question Id : 7066094682 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The element present in chlorophyll, green coloring matter of plants, is
I 08° 8Ny o SEEEIND SRS §5°885 &) Drossh QB ?
Options :

Mn
70660918625, #



Mg
70660918626 ¥ =

70660918627, %

Fe

70660918628, #

Question Number : 25 Question Id : 7066094683 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which amongst the following shows zero dipole moment?
& [Bod FES° 28 B0F) BIES (FEHEID EDCHOED

Options :

CH,CL,

70660918629. #

OH

70660918630. #

CHCL;

70660918631, #

CcCl

70660918632 ¢

Question Number : 26 Question Id : 7066094684 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Give the IUPAC name of the following molecule.
& (80b wenyd gy [UPAC 26080 Sengyao.

///‘YY:
Cl  pr
Options :

5-bromo-3-chlorohept-1-en-6-yne
70660918633, ¢

3-bromo-5-chlorohept-1-yn-6-ene
70660918634, %

0660918635, % 3-bromo-3-chlorohept-6-en-1yne

5-bromo-5-chlorohex-1-en-6-vie
70660918636, # =

Question Number : 27 Question Id : 7066094685 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The IUPAC name of the monomer of natural rubber 1s

IS sQo) Ste 28 Bugy TUPAC oeabadn
Options :

Isoprene
70660918637, # p

2-Methyl-1.2-butadiene

70660918638, ¥

2-Methyl-1.3-Butadiene
70660918639. ¥

2-Methyl-2-Butene

70660918640. #



Question Number : 28 Question Id : 7066094686 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Which of the following is NOT an insecticide?

& (808 FES° 2B BS050ES .

Options :

DDT

70660918641, #

Ephidrine

70660918642, ¥

Perthane
70660918643, #

Lindane
70660918644, #

Question Number : 29 Question Id : 7066094687 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is not one of the twelve principles of green
chemistry?
& (8o >8&° green chemistry §°0 12 doHSros® .88 JrEsn =d.

Options :
Using high temperatures to speed up reactions

oy IAS0D DoHD WEE I KS sIBrAoDHw
70660918645, ¥ wale

Minimizing toxic reagents used in synthesis

D8 SITBS® SIS toXIC 0D SIBTACTHL
70660918646. ¥



Maximization of atom economy

SESesn economy Q A8jor Dothwd
70660918647, % =

Minimizing the use of solvents

(GeSefo EAHOM DAFTeAOTHN
70660918648, ¥ i

Question Number : 30 Question Id : 7066094688 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following 1s a characteristic test for identification of
carbohydrates?
S5 REESeD KBoswD & Bod F8S° Ab wdorfls JbK

Options :

Ninhydrin test

S RAS 58
70660918649, # g‘

Biuret test
Bo3S HBE
70660918650, ¥

Molisch test

SO8 SBE
70660918651, ¢

Todoform test

=, -
& P JBE
70660918652, %

Question Number : 31 Question Id : 7066094689 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

Which of the following aryl halides readily undergo nucleophilic
substitution?

& (808 Bewlnds 238 pdod® 286 Demsur JFESEE HOF (SBFIIS0D
855,

Options :
Cl
NO,
70660918653, %
Cl
NO,
. NO,
70660918654, %
Cl
O,N NO,
NO
70660918655, ¢ ! =
Cl

70660918656. #

Question Number : 32 Question Id : 7066094690 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



. Cannizzaro’s reaction 1s not given by
& 1808 FEST 28 EK);‘mG’E SBH cwaSed
Options :

Formaldehyde
70660918657, %

Acetaldehyde
70660918658, ¥

Benzaldehyde

70660918659. #

Trimethyl acetaldehyde
70660918660. %

Question Number : 33 Question Id : 7066094691 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Among the following the most stable Carbocation 1s
& (808 TEST whHE BESIMD YY) FEYFLIES A6 ?

Options :

70660918661, #

@®
HC=CH-CH,,
a N
70660918662, ¥ 2



&®
H.c~£—CH,

ZH
70660918663. ¥ 3
®
70660918664, * N3E~CHa

Question Number : 34 Question Id : 7066094692 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Identify compound A and B from the following reaction.
& (8od SE5S* Sy FSo A DBce Bek Hfosos.

<
OH

Br, /CS,
— = A+B

Options :

aH JH
B
70660918665 % :
OH OH
Br
® @
# Br

70660918666. # Br

OH OH
Br
| e
J f;
Br

70660918667 ¥



OH OH

0C
/Br

70660918668, % B B

PHYSICS
Section Id : 70660958
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 33
Number of Questions to be attempted : 33
Section Marks : 33
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 70660986
Question Shuffling Allowed : Yes

Question Number : 35 Question Id : 7066094693 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A motor boat 1s racing towards north at 25 kmy/h and the water current in that region is
10 kin/h in the direction of 60° east of south then the resultant velocity of the boat is

0.8 I %0 eds 6333 25 km/h Sod® SrHHdiHod. wE.K de

-

Beedro 10km/h 350 $0A Gfgo &FS° 60° §mo IS SIS0,

es00SST T $OS Ko

Options :

20 kmv/h
70660918669, ¥

i | /
70660918670. ¥ 22 kah

26km/’h
70660918671, ¥ =



24 km/h
70660918672, ¥

Question Number : 36 Question Id : 7066094694 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Two resisters of resistances R; = 100 = 3 ohm and R, =200 = 4 ohm are connected in
Parallel. then the equivalent resistance of the parallel combination is

Bo 8G=e &8°cen Ry =100=+ 3 ohm. R, =200 + 4 ohm &3 ISrosSor
EDrE), wonSS® SSrosE SoBerSs Segd&iso

Options :

R!=66.7 = 1.8 ohm
70660918673, ¢

R!=64.7 +2.6 ohm
70660918674, #

R!'=67.6 1.9 ohm
70660918675, ¥

R!'=62.7 3.6 ohm
70660918676, ¥

Question Number : 37 Question Id : 7066094695 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A bullet of mass 0.04kg moving with a speed of 90 ms™ enters a heavy wooden block and
is stopped after a distance of 60 cm, then the average resistive force exerted by the block
on the bullet is

0.04kg © @550@:5;‘ o8 2088 0ms! J88° [POSTBIr o8 BHSI IF),
&3 58 ($3%0D BISIw 60 cm. © &G0 (SoSreelod sADSon0H, wond
W8S B B O (FBeAoT Jo°08 S EE weo e

Options :

260N
70660918677. ¥



276 N
70660918678, #

270N
70660918679. ¥

267N
70660918680. ¥

Question Number : 38 Question Id : 7066094696 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A block mass m = 1 Kg. moving on a horizontal surface with speed v; = 2n/s enters a
rough patch ranging from x = 0.10m to x = 2.01m. The retarding force F; on the block in
this range is inversely proportional to x over this range. F; =-k/x for 0.1 <x<2.01

m where X < 0.1m and x > 2.01m. K=0.05]J. then the final Kinetic Energy is

(B35 m=1Kg &3 &&&Q&e& JSTodE oo Vi =2m/s S&ST Shendr
Xx=0.10m Hod x=2.0Im S 580D &) AOH ($BF0S® ($I0ood. &
Jsg;é* SO0 oﬁgeﬁégcm 59T 200 F X & OSD ardos® dotnod.
Fr=-k/Xx.01<x<20lm & x<0.lm HBc x>2.0lm 28.& K=0.05], £&H
$87Q) lS SO 63y K& A8z F§ Do

Options :

041
70660918681. ¥

0617
70660918682, #

0.8J
70660918683 ¥

0.5J
70660918684, ¥



Question Number : 39 Question Id : 7066094697 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

An elevator can carry maximum load of 1800 kgs (elevator + passengers) 1s moving up
with a constant speed of 2nv/s. The frictional force opposing the motion is 4000N, then
the minimum power delivered by the motor to the elevator in horse power is

2m/s {ESBS® 28 SOD) OF Mo 1800kgs (O + (Sosreden) 2P
8B JFro®. & Jord) HBBEHY) Hge weo 4000N. Srudd d5H
wobodSods Q3 °é°°53€°5‘ﬁ$t' @éﬁg&&%ﬁge S0 Denss

Options :

59 h
70660918685. ¥ 5

54 hp
70660918686. %

75 hp
70660918687, %

80 hp
70660918688, %

Question Number : 40 Question Id : 7066094698 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The coefficient of restitution 1s
f;’;eﬁgo‘ﬁmﬁ Heaso
b @ _
Options :
e=h—W/VvVi—-Vy
70660918689, #

10660918690, % € W1~ W2/ Vi—V;

E=h -/ Vh—V
70660918691, ¥ g il )



e=v,—V;/1 -1
70660918692, ¥

Question Number : 41 Question Id : 7066094699 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The moment of inertia of a rod of mass M. length { about an axis perpendicular to it
through one end is

M [SSgoe8 ¢ TES &) 28 588 eoworr, o £ rgo DD wgo Sorr
zscs“ech @:%‘iaéo Senes

Options :
3,
70660918693, v ML/ 3
2/6
70660918694, % '
3ME2/2

70660918695. #

5 -
70660918696. ¥ AM L7

Question Number : 42 Question Id : 7066094700 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The length of a simple pendulum. which ticks seconds 1s
oD B F ondtoso FPEY Jend
Options :
70660918697, % 41

Im
70660918698, +

6m
70660918699. ¥



9m
70660918700. ¥

Question Number : 43 Question Id : 7066094701 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A 400 kg satellite is moving in a circular orbit around the earth of radius 2R. How much
additional kinetic energy required to transfer the statellite to move in a radius of 4R.

400 kg @85501'%‘ SN S z)iamf r‘ﬁm‘féoﬁ 2R @g&goﬁs @53?%153:5&&. 58

L a,

B0 Sw 4R mg&goés BEKEOS 25 S0RS ©8IH KBz 3§ Denss.

—

S

Options :
+3.13x10°]
70660918701, +

3.13x10%]
70660918702, ®

13.13x10°J
70660918703, ¥

5 L | = 9
70660918704, ¥ ~13.13 X 107 T

Question Number : 44 Question Id : 7066094702 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A structural steel rod has a radius of 10 mm and a length of 1.0m. A 100 kN force
stretches it along its length, then the elongation 1s

Q0% 08° 85ETAS of 4888 10mm eggo, 1.0m. P&y S0A ¢ob.
100 kN 2o 6D PEY S6ore FR&ELIZS 48° A6E BEiHE Do
Options :

1.57 mm
70660918705, ¥

1.26mm
70660918706, ¥



1. 44mm
70660918707, ¥

1.59mm
70660918708 ¢

Question Number : 45 Question Id : 7066094703 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In a car lift compressed air exerts a force F; on a small piston having a radius of 5.0 cm.
This pressure I transferred to a second piston of radius of 15 cm. If the mass of the car to
be lifted 1s 1350 kg, calculate force F,?

28 6 OFS* Sob&S md (compressed air) 5.0 cm. Fgrgore OF) koo B

Plece.,ﬂc‘{);_ EOAOH. & £&30 15 cm 5.?"595"(;0 5o Bo&sS Shaesedd
[BSSDIK0b. 28 BIITD)S = . (BSgo® 1350kgen wowd F &
E§a_ﬁée%o&.

Options :

470N
70660918709. ¢

1280 N
70660918710. ¥

3
70660918711, % 1260 N

70660918712, % 1780 N

Question Number : 46 Question Id : 7066094704 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



A fully loaded Boeing Aircraft has a mass of 3.3 x 10° kg. Its total wing area is 500 m?. It
is in level flight with a speed of 960 km per hour. Estimate the pressure difference
between the lower and the upper surfaces of the wings.

[Sosrdted® Jrer Q0&S a8 Stowol Do [KS5o8 33x10°kg. o

350 Jwgo Jwogo 500m’. @& 960 kmph S&S* o8 rons® AN,
350 808, B al8dore B&; &) SEY SergR) woSa 3cHod
(= o [=8

Options :

b 8 -2
J0660018713, % 50 X 107 Nm

7.5x 10° Nm™
70660918714, #

- 4 2
6.5x 10" Nm
70660918715, +

- 2 k.
45x 10" Nm
70660918716, #

Question Number : 47 Question Id : 7066094705 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

When 0.15kg of Ice of 0° C mixed with 0.30 kg of water at 50° C in a container, the
resulting temperature is 6.7° C. Calculating the Heat of fusion of Ice?

(where Syater = 4186 kg 'K,
0°C 3§ &) 0.15kg © HoHD 50°C g &) 030kge ABS® o8 o(s®

E0BISPD 508 & KS 6.7°C & JeheHod. SHodb (FDSSI rbargo SHEY 04,

Options :

4% 10° Jke
70660918717. s

- 5 .
3.34x10° Jke!
70660918718, « =

: s
4 o
70660018710, % -24 X107 Jkg



3 i
6x10° Jkg'
70660918720, ¥ =3

Question Number : 48 Question Id : 7066094706 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The specific heat of Silver 1s
So& Do dod ?
Options :

226.1 Jkg'K*!
70660918721, %

266.1 Jkg 'K
70660918722, %

S
70660918723, % Z86:l Jhg =

236.1 Jkg'K?
70660918724, ¢

Question Number : 49 Question Id : 7066094707 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The mean free path £ 1s the average distance covered by a molecule between two
successive collisions 1s given by
2.8 PO 960 Boh SEHS eddrare HiEe @';@eﬁo-ﬁ SHED o) 15\;5::@

SEHEgto L Sog DESE0 A& P 8EE n 50@"’595"@3595. d wenyg g,
Options :

‘Ealrg = ]. J'Ill \Ilﬁllndz
70660918725, %

bve=1/ \2nnd?
70660918726, ¥



eavg — ]. I \cll'q'llndz
70660918727. %

fave =1/ 3nnd"
70660918728 %

Question Number : 50 Question Id : 7066094708 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Estimate the speed of sound in air at standard temperature and pressure. The mass of 1
mole of airis 29.0 x 107 kg.
(@FSreds s T5AS, dre I mOS® 10 SAD woSee Icho&. 1mole O

[ S°5c°® 29.0x 107 kg
Options :

260 ms™
70660918729, %

280 ms!
70660918730, ¥

340 ms™
70660918731, ¥

-1
70660918732, % 120 S

Question Number : 51 Question Id : 7066094709 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The Earth takes 24h to rotate once about its axis. How much time does the Sun take to
shift by 1° when viewed from the earth?
S wgo WHar S 2,88 [Fedeao JoHhed8 24 Kowen SHownod. Zrdd

DHod IFEAILPE 1° aﬁ%&ﬁo’a BodeE TrediglE o SHABo Lok,

Options :



2.4 min
70660918733, %

6 min
70660918734, %

3.6 min
70660918735, %

4 min
70660918736, ¢

Question Number : 52 Question Id : 7066094710 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The standard refractive index of diamond is
QSESG oﬁwg& @%ﬁﬁﬁé oﬁga:féd N80 QoS 7

Options :

242
70660918737, ¢

70660918738, #

70660918739, #

2.24
70660918740. ¥

Question Number : 53 Question Id : 7066094711 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



' Two slits are made one millimeter apart and the screen is place one metre away. What is
the fringe separation when blue-green light of wavelength 500 nm is used?
Imm JEos® Fodh HOFoDH J» 35D Im ErSoS® g0, adB3mAHS deo
8 IF) 5708 Sorr Fdgo 500 nm wond a:é WOSE0 O ?
Options :

70660018741, % > LM

0.5nm
70660918742, %

70660918743, v 0-3MIM

3
70660918744, % 1-2T00

Question Number : 54 Question Id : 7066094712 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Consider the charge q. q and —q placed at the vertices of an equilateral triangle. What is
the force on each charge?

o8 e [Babmo Bore S§ (. qH00 q e3reD sorth. (X8 elFo B
5F w0 Hend.

Options :

360N
70660918745 ¥

70660918746, ¥

70660918747, %

70660918748, ¥



Question Number : 55 Question Id : 7066094713 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The electric field in a region is given by E = ai + bj here a and b are constants. Find the
net flux passing through a square area of side L parallel to y — z plane.

-1 E’ga'éoe.?’s&) DepgS Q'@vc‘();‘ E =ai+bj 50508, 284 a.b e fooses.
Y-z Sood8 SSrodtor ¢od L ehmorr Ko S&ES Sroge i SF6h 56
wiariro.

Options :

2

a
70660918750, ¥

)
4al.
70660918751, #

2al?
70660918752, ¥

Question Number : 56 Question Id : 7066094714 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

An electric dipole of moment p is place in a uniform electric field E. with P parallel to E.
It is then rotated by an angle q. The work done is
8IS [Fed8o p SOAS o8 QS Bl 2808 HEgS FSo E &° PE. 8

SaroStor oy o, SBIS Q) q §'nod” ([Fdheo TosR, 8BRS
38
Options :

pE(1 + cosq)
70660918753, #



pE(1 - cosq)
70660918754, ¢

PE(l -2 cosq)
70660918755, ¥

g
pE(1 + cos™q)
70660918756, %

Question Number : 57 Question Id : 7066094715 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A current 10A passes through two very long wires held parallel to each other and
separated by a distance of 1m. What 1s the force per unit length between them

10A 355355 QDS e FEIS Botd BroD o8 =D 58 SSrosSorr
Im eS0S® gometd. 8 HE; s EIH HOF oo dends

Options :

5 1O
70660918757, v 2 X 107N

4x10°N
70660918758, ¥

2x10°N
70660918759, ¥

4x 10N
70660918760. ¥

Question Number : 58 Question Id : 7066094716 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



A solenoid of length 22.5 ¢m has a total 900 turns and carries a current of 0.8A. then the
magnetizing field H near the centre and for away from the ends of the solenoid 1s

225 cm &S, 900 Hep 208 FOFES® 0.8A DS [BFo #0d. &
Bo|fo, HSCe Hod &rsore &0 woHT08E8m0 T gSo H denss
Options :

70660918761 # 2200Am "

2300Am™ !
70660918762, ¥

3300Am™ !
70660918763, ¥

- / ot |
70660918764, ¢ 3200Am

Question Number : 59 Question Id : 7066094717 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The instantaneous current and instantaneous voltage across a series circuit containing
resistance and inductance are given by I = v2sin (100t- ©/4)A and v = 40sin(100t)V and
calculate the resistance?

Q6%E50, Booo &) @ SocHo Do orgds DS (Serdro, SR Devden

i =2sin (100t- W4)A. v=40sin(1000)V wcnd 95°¢0 Jens

Options :

30 Ohm
70660918765, #

10 Ohm
70660918766 ¥

20 Ohm
70660918767, ¢



40 Ohm
70660918768, ¥

Question Number : 60 Question Id : 7066094718 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A radio can tune in to any station in the 7.5MHz to 12MHz band. What is the
corresponding wave length band?
&8 346G 7.5MHz SHod 12MHz 58 Ko o25086° & (B8 Bolos® womae

DB o, & T9golH eDNETEIRS SCorggio Fgod a7

Options :

0660918769, ¥ 40m to 25m

7.5mto 12m
70660918770. ¥

40m to 125m
70660918771, %

T0660918772, % 00m 10 40m

Question Number : 61 Question Id : 7066094719 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Calculate the current amplification factor p(beta) when change in collector current is
ImA and change in base current 1s 20uA
DEG DegS E'JQ'J":}'“O@"E S IMA 86700 ([SarieoS® S8y 20uA &SP

B 3G s=8o Prbeta) S EDHEY0E.
Options :

70660918773, ¥ 40

q
70660918774, ¥ ~ 0



60
70660918775, #

80
70660918776. %

Question Number : 62 Question Id : 7066094720 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

. A certain substance decay to 1/232 of its initial activity in 25 days. Calculate the its half
life?

25T™E SPgo KODDHIE aodio S 24 & o0 EcSrhed, §°O
Bosehes® 1/232 S Sobs 58 08, o= o8 298 o) 880508,
Options :
70660915777, %+ 4AYS

5 days
70660918778, ¢ J

6 days
70660918779, %

70660918780, # 7 dEl}"S

Question Number : 63 Question Id : 7066094721 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

If one microgram of 5, U is completely destroyed in an atom bomb. how much energy
will be released?
2:6°%578 SETrew o D NWSoS® o8 PN TS P,U Sodrdorr ISR,
¥ L & -]
2o 3L DEDSwI0b.
Options :

9X 1071
70660918781,



8 X 1077
70660918782, ¥

6X 1077
70660918783, ¥

TX 10°]
70660918784, #

Question Number : 64 Question Id : 7066094722 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A message signal frequency 10 kHz and peak voltage of 10 volts 1s used to modulate a

carrier of frequency 1MHz and peak voltage of 20 volts. Determine the modulation index

10 kHz 2°5s S50, Bpg T2 10V Ko 2.8 JoB¥ So8ee) IMHz %"Ja;’gégo
20v A6 S8R Mo FFE SCorrd) SrErES IchaEdd aISrAoTs.
Sraeg@as SO Hends.

Options :

0.42
70660918785, #

0.5
70660918786. ¥

70660918787, #

224
70660918788, ¥

Question Number : 65 Question Id : 7066094723 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



The motion of a particle of mass m is described by y =ut + 1/2gt> find the force
acting on the particle.
m ($S50°8 &) o KD y=ut +1/2g o SLrESwoS® SGoTERIG

@ 800 D 20 I 2eo DS 08.

Options :
»

F=ut
70660918789, #

F=utg
70660918790. #

F=mb
70660918791, #

F=ma

70660918792, ¥

Question Number : 66 Question Id : 7066094724 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Calculate the work done in blowing a soap bubble of diameter 0.6 cm against the
surface tension force. (surface tension of soap solution =2.5 X 10°Nm™)
0.6cm <Pglo Ko o8 Sy WERD 4B SoSSS 2ord8 S8TEorr

SO SAQ B8 oTod (S [Bereo So SJgs 25X 10°Nm™)

Options :

9.65X 10°7
70660918793,

545X 1097
70660918794, ®

7.65X 10°7
70660918795, #



565X 10°]
70660918796.

Question Number : 67 Question Id : 7066094725 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following one is perfect gas equation.
Bob TOS® e ooy SOTEESC B,

Options :

PV =gRT
70660918797. ®

PV =mghT
70660918798, %

70660918799, v £V = URT
70660918800, % £V = M
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Question Number : 68 Question Id : 7066094726 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

If f:R— R, g:R— R are defined by

L0 i xeQ L 1 i xeQ

f(ﬂ_l_l i re0 andb(:\)_L oy ey then
(fog) (m) +(gob) (&) =___

; ; o e, T __[0 TS = o _jf_l if
f:R—>R.g:R—>Ren Bod (HDasren f(.\]_-l-l R HBASD g(r}—l 0 if
(fog) (m) + (gob) (&)=____

Options :

70660918801, #

70660918802, # 1

-1
70660918803 ¢

70660918804, #

2003



Question Number : 69 Question Id : 7066094727 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

| 1 1
...+ =
13 35 2n-D(2n+1)

Options :

. 2+l
70660918805, %

2n+1
70660918806. ¥

1
2n—1

70660918807. #

]

Y —
70660918808. * iy

Question Number : 70 Question Id : 7066094728 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



The system of equations

Ax+y+z=0
—=xfApfz=4»0
—x—y+4Az=0

will have a non-trivial solution if real values of A are

X+ V+2=0—X+Ap+2=0—x—y+ iz =0 3 3&Serre SGS2 é,ﬂc?;géd

FES 08 L g SIS Hends
Options :

70660918809 ¢ 0

70660918810. #

70660918811, #

-~
70660918812, #

Question Number : 71 Question Id : 7066094729 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The mverse of a skew-symmetric matrix of odd order is
TH S5KS Ko eﬁ%’&éé (85 Swg); DS D0
Options :

a syminetric matrix

VLS B
70660918813, # = =



a skew — symmetric matrix

= |
TN S| fE
70660918814, % w <

diagonal matrix

70660918815, % m%-f d‘“@g

does not exists

;5555&65533?65:
70660918816. + ®

Question Number : 72 Question Id : 7066094730 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

If A=i+j+kand B=1—]+ 2k then the projection of A on B is given by
A=i+j+k $H8c B=i—j+2k wond B3 Sof A HEDw
Options :
G- j+2k)
70660918817 %
|
5(1 +31+k)
70660918818. ¥
|
5 (i—j+2k)
70660918810, ¢

B a2
E{F — j=kK)
70660918820, *



Question Number : 73 Question Id : 7066094731 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

If the vectors a=21—) +k.b=1+2j—3kand c = 31 + pj + 5k are coplanar then
P=
a=2i—j+k.b=1+2j—3k B c=3i+pj+ 5k &3 3I6Fen JIIDoSTen
wond P=

Options :

70660918821 +

0
70660918822, ¥

,_1_
70660918823, #

1
70660918824, ¥

Question Number : 74 Question Id : 7066094732 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

15[tan20 + sin26] + 8 =0 if ?
15[tan26 + sin26] + 8 = 0 eson 9
Options :
1
tan 0 = —
2

70660918825, #

: 1
sin 6= —
70660918826. ¥ 4



ano=2
70660918827, ¥

cos 6=

h| =

70660918828, #

Question Number : 75 Question Id : 7066094733 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Sin'(1-x)—2Sin!x = %then x is equal to

-

T i 7
Sin (] cx)=2 Sint e = = oS ¥ =
Options :

0
70660918829. ¢

|

70660918830. # 3

70660918831, #

rd | =

70660918832, #

Question Number : 76 Question Id : 7066094734 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Ina AABC.ifa=3,b=4andsin A== then the angle B=

e | o

AABC &% a=3.b=4 58050 smA:i ewond £%20 B=

Options :

30°
70660918833, ¥ ~

45°
70660918834, ¥

o
70660918835, # 60

o

9
70660918836. ¥

Question Number : 77 Question Id : 7066094735 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Find the point to which the origin is to be shifted so as to remove the first degree
terms from the equation 4x* + 9y* — 8x + 36y + 4=0

S0 DoBHegHd & DoHIH &Y IOV HESeo 4+ 9y’ ~8r+36y +4=0 S0 Ino& SEKE HEboen
SPof0D28S Doy

Options :

(1.2)
70660918837, #

(-1,2)
70660918838 #

(1.-2)

70660918839,



(-1.-2)
70660918840, %

Question Number : 78 Question Id : 7066094736 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The equation of the straight line passing through the point (2. 3) and making non-zero
mtercepts on the axes of coordinates whose sum 1s zero

(2. 3) Bosay Mo b AsTSAegHe &° B 388 wostpocre Ingo
Qo) ey S6F Do SQo8Seo
Options :

X=y
70660918841, ¥ -

Xty
70660918842, # s

70660918843, ¥

70660918844, %

Question Number : 79 Question Id : 7066094737 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

If x* +xy—2y" +4x—y+k=0 represents a pair of straight lines then k=

.'\'2 +xV— 2-1-2 4+ 4x — y+ k=0 @3&] S0 500533@ 5&3'&?55 :J‘"w%_gk =

DS
Options :

70660918845, # 0



70660918846, ¥

2
70660918847, %

70660918848. + 3

Question Number : 80 Question Id : 7066094738 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The point of intersection of the lines 4x+8y—-1=0,2v—y+1=01s
4x+8y—1=0,2x—y+1=0 Bpo B3 HodJ
Options :
TEED

L2010,
70660918849, #

[T 3 )

\E'IOJ

70660918850. +

L2010 )

3

70660918851, #

5
20710 )
70660918852, ¥

Question Number : 81 Question Id : 7066094739 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



If a ray makes angles a. . y. 8 with the four diagonals of a cube then

2 2 2 22
cos o+ cosP + cosy +cosé =

2.8 8800 008D i DETTOS® a. B.1.8 Serod I

24 2 2 2o
cos'o +cos P +cosy +cosd =

Options :

|

70660918853, *
3
5
70660918854, ¥
4
3

70660918855, ¥

tad | =

70660918856. #

Question Number : 82 Question Id : 7066094740 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The equation of the plane passing through (1, 1. 1) and parallel to the plane
x+29+32 00
(1, 1. 1) Doty rom % x+2y+32—-9=0 Ser08 ISrodor 408

Seo H&ES=o 7

Options :



70660918857, ¥

x+2y+3z-6=0
70660918858, ¢

x-+ 2y +32+9=10
70660918859. *

x+Ey+2-6=10
70660918860. ¥

Question Number : 83 Question Id : 7066094741 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

: 2x+1
lm —=

5

=21 3x" —4x+35

Options :

e WY

70660918861, ¥

i | =

70660918862, #

Ul | =

70660918863, #

[a—

70660918864, #

Question Number : 84 Question Id : 7066094742 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



If f(x)=sm(logx) (wherex>0)thenf'(x)=
y>0ewon f(x)=sin(logy) wond f'(x)=

Options :

|
sin(log x)
70660918865. ¥

cos(log x)
70660918866. ¥

l(:{Jﬁs(ln:)g X)
s

70660918867 +

-—sin(log x)
70660918868, ¥ ¥

Question Number : 85 Question Id : 7066094743 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The length of the subtangent at any point on the curve
y=a" (where a > 0) is

a>0wow y=1a" oI JFo B IBS Doy I &35 Gdvo TS

Options :
log a
70660918869, %
|
loga

70660918870, ¥



x
70660918871, # .

|
loga

70660918872, %

Question Number : 86 Question Id : 7066094744 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

If the circle x* + v* — 4x + 6y + k= 0 has radius 4 then k=

XY —4dx+6y+k= o3 HI Fgrgo 4 wond k Dend

Options :

i

70660918873, ¥

70660918874, %

]
fad

70660918875. ¥
70660918876, ¥

Question Number : 87 Question Id : 7066094745 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The angle between the circle x¥* + V" + 4y — 14y +28=0 . X’ + " + 4x -5 =0
15

Xy A - My +28=0.x"+y +4x -5 =0 Hepe Hig §eo
Options :

= 0
70660918877, % 0



450
70660918878, ¥

o

70660918879. ¥

90°
70660918880. *

Question Number : 88 Question Id : 7066094746 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In an ellipse. the distance between the foci 1s 6 and minor axis is 8 then the
€CCENtricIty 1s

BEREoS® ) HE Erdo 6 HcT DY) wo 8 wond JDbSTI
add o) ol =

Options :

o
NG

70660918881, #

Lh | s

70660918882. +

2 | —

70660918883, #

|

70660918884, #

Question Number : 89 Question Id : 7066094747 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



dx =

J’ 3.‘\‘2
14x°
Options :

103
tan (x") +C
70660918885, ¢ { )

$p 5 .
ot (x) %€
70660918886, ¥ ()

sin'(x’) + C
70660918887, %

143
70660913888, ® €08 () +C

Question Number : 90 Question Id : 7066094748 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

dx

T
U'T +a

—_—n

Options :

70660918889. #

q

4a
70660918890. +

70660918891, #
4a

70660918892, #



Question Number : 91 Question Id : 7066094749 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

. : . . dv B
The solution of the differential equation d— —g" T Lxe?

X
{hl x—y 2 -y 5 ¢ w & < = A
d—:e YExte”? 93 9380 0anBO0 G30B)L TR0
»
Options :

f+xr’+e'=0
70660918893, %

d=c"+x+C
70660918894, ¥

70660918895, ¥ 3

EN 2
e¥=e"+x+C
70660918896. %

Question Number : 92 Question Id : 7066094750 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
: : ay .
Integral factor of cos = + ysinx = tan x
X

dy .
CosX—+ ysinx = tanx CHE). JSrELS Mo
=

Options :

Cosx
70660918897, #

70660918898, ¢ €€ ¥

fan x
70660918899. ¥



—COs X
70660918900. #

Question Number : 93 Question Id : 7066094751 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Ne, +Ng...+Ng =
Options :

-
70660918901. # =

rD | =

70660918902, #

oo
70660918903. +

s
70660918904, ¥ =

Question Number : 94 Question Id : 7066094752 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Y 2 2 are in : - =
If 2ne 200 and 2n, arein AP thenn
4 5 6
2~ 20, SHBOHD 2n,. o0 wof [F8S® o n=
8 {: % &
4 5 6
Options :

IS
70660918905. # -

7
70660918906. +



9
70660918907. ¥

70660918908, #

Question Number : 95 Question Id : 7066094753 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The remainder when 6" — 5" is divisible by 25 is
6"—5" B 25 3 =R 0o 30
Options :

70660918909, #

1
70660918910. ¢

70660918911. % 24

70660918912, # n

Question Number : 96 Question Id : 7066094754 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

If 7™ term of an AP is 9 and 9™ term of AP is 7 then 20™ term of the AP is

0% Eﬁeﬁ* 7S 380 9 H8asy 95 S0 7 eond 2085 J&o

Options :

(B

70660918913, #

|
(il

70660918914, #



4
70660918915, +

70660918916. #

Question Number : 97 Question Id : 7066094755 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

101
If a+ib= ) ;" then(a.b)=

k=1

101

a+ib=>i" wond (a.b)=
k=1
Options :
(0.1)

70660918917 +

(0.0)
70660918918, %

0.-1)

70660918919, #

(1..1)

70660918920, #

Question Number : 98 Question Id : 7066094756 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

: 1 :
The conjugate of a complex number = then that number is
I -

1
Sopg g Jockwfo — wond & Sofg Sop

i
j_] e :J—

2.8 Sof

16,3

Options :



-1
70660918921, #
I
+1
70660918922, %
-1
+1
70660918923, ¥
1
i—1

70660918924, #

Question Number : 99 Question Id : 7066094757 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

If a. P are roots of x* + px + q = 0 then the value of o’ + B is

2 A 3 3 s
X +pr+q=0 SoE) Sroren o, fen wond ol +p Sog) Dess
Options :

3pq+p’

70660918925, #
i 3
’pq - P

70660918926. ¥

70660918927, #

70660918928, #

Question Number : 100 Question Id : 7066094758 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
Let0<P(A)<1,0<P(B)<1and P(AwB)=P(A) + P(B) —P(A)P(B) then
Options :

70660918929, % PAIB)=0

P(B

A)=0
70660918930. ¥

70660918931, ¥ P(A' nB)=P(A") P(B))

70660918932, # PUIBrrBEILA=]
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Question Number : 101 Question Id : 7066094759 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The conversion of plasma sol into plasma gel and vice versa is a

= o o 2y =
T T8 FFBES mIr 88A FomES rH S Sodhe wHIB
- o — s — o =

Options :



Biochemical phenomenon
o X D X
J06609158933, % ZSOFODS (DECT

Physio chemical phenomenon

TS EFcHS Efaféo‘f.:
70660918934, + =

Chemical phenomenon

EFO5S S8
70660918935, ® o

Physical phenomenon

TaE |5EH
70660918936, ¥ -c

Question Number : 102 Question Id : 7066094760 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Path of water in a sponge is

SYoBEE, fo A (S8 o

Options :

Dermal ostia — Gastral ostia — Osculam

25 S w&osr — g RS wdholr — el o
70660918937, = = =

Dermal ostia — Gastral ostia — Spongocoel —Osculam

a5 E WA — g /S @RI — $Y08sRTE0 — Y
70660918938, ¥ © = & T A

Osculam — Spongocoel ~ — Choanocytes — Ostia

BOPOM — oBSHTE0 — FOTRSTHd) — whotr
70660918939, % C > & =



Pinacocytes — Choanocytes — Enteron — Osculam

B tr“, — 3 ‘(-": f?‘-. AR 2 Ly ""’-u-! 5 =
00100, % &FERE) FArSRE) — doeS — 6l o

Question Number : 103 Question Id : 7066094761 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Sensory structure of a Cnidoblast is
V&G Gog). FTrolo
R &

Options :
Cnidoil

70660918941. + ad{&ﬁ

Refractile rods

838 &)

70660918942, #

Myonemes

SIrA)
70660918943, # %

Operculam

- I
2o BEO D
70660918944, ¥ o

Question Number : 104 Question Id : 7066094762 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following stages 1s not found in the life cycle of a blood fluke

& $ob TES° AFE 208 JFo Jod wdhoN &F

Options :
Miracidium
Ny oo d &Y
70660918945, % SPTRESI0



Cercaria
iepNolores
70660918946, ¥
Redia
Ea <
70660918947, «  O&CIT®

Sporocyst
N“;,d*&@
70660918948, #

Question Number : 105 Question Id : 7066094763 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Ascaris protects itself against digestive enzymes of the host by
AR B, ﬁg@oﬁ,ﬂ 20BS0e Hod @Qb&,@ﬁ SIH FEoHET D He

S50

Options :
Mucus
""\
350
70660918949 ¥ e
Antienzymes

555855 NoF e
70660918950, %

Antienzymes and cuticle
J5BTE oFSwen HBAL 9STEH
70660918951, %

Cuticle

70660918952 + SRR



Question Number : 106 Question Id : 7066094764 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The coelome developed by the splitting of the mesodermal somites are called
DEZTo chosd TPy HOF A ESwSod S o

Options :

Schizocoelome

255 S
70660918953, ¢ &

Enterocoelome

-~ 2 §. ot S

70660918954, # Q08 HE"DH
Pseudocolelome

DaegIBS B0
70660918955. #

Eucoleome

D BEHSS0
70660918956, %

Question Number : 107 Question Id : 7066094765 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In cockroach the metamorphosis 1s
25“5%0&: oo & SrIDBoD

Options :
Ametabolus
AT 0
70660918957, %
Hemimetabolus
DSOS

70660918958, #



Paurometabolus

oS tod
70660918959, ¥

Holometabolus
SR TS
70660918960. %

Question Number : 108 Question Id : 7066094766 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Haemocyanin the blue color pigment of molecules contains
& Ir50DT - e EIo cHosd D IF Saego 5OA 4oZd

Options :

Iron

o 55 58
=
70660918961, #

Magnesium

DA &S0
70660918962, # o

Copper
70660918963, ¥ C°H

Manganese

SToRd%
70660918964, %

Question Number : 109 Question Id : 7066094767 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The conunon ancestors of Echinoderms, Hemichordates and character is
2PS5°658) %, TroseBSen Hookn so8ir o Soohed FebeE £Je

==

Options :



Dipleurula

70660918965 + E%

Tornaria

LB BosTe
70660918966. # o~

Bipinnaria
583 805
70660918967, ¥ o

Trochophore
g

70660918968, ¥ =

Question Number : 110 Question Id : 7066094768 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Ampullae of Lorenzini is concerned with
"0y uf §°802"Q BI& J02080DID

Options :

Excretion

QLESBoH
70660918969, ¥ 5~

Thermo reception
b -B o]

Eah Bt

70660918970. #

Olfactory organs

@eav ormen
70660918971,



Osmoregulation

D 55
70660918972, « e

Question Number : 111 Question Id : 7066094769 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which is the gland that holds the bodies thermostal
85 &3 EDHSH AS&=oD (ob

=

Options :

Adrenal
W(BIE [Kod
70660918973, ¢ = k=

Pitutary

Sotrs, (1108
70660918974, #

Thyroid
Boron&

70660918975, #

Hypothalamus
TS
70660918976. %

Question Number : 112 Question Id : 7066094770 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Where 1s protein digestion accomplished
SroSE)Een EFo sad ($B%0

Options :



Stomach
SoricHo
70660918977. #

Meum
2OHo
70660918978, ¥
Rectum

J38%0
70660918979, %

Duodenum

&BrdIo
70660918980. ¥

Question Number : 113 Question Id : 7066094771 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Turtles are more closely related to
S 388° 98 SDNIED EOA &N

Options :

Birds than lizards and snakes

2goed HEOH e E7) SHos®
70660918981, ¥

Crocodiles than lizards and mamimals

pYe) HBOH ASore B Bwds®
70660918982, # ' o ¥

Fishes than Crocodiles

Il &) Blees®
70660918983, %



Sphenodon than lizards
e ) SIS’
70660918984, # oo

Question Number : 114 Question Id : 7066094772 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Darwin natural selection theory failed to explain

S [$5B e bgrodo BN HSBoHLS® HwHonod.

Options :

Survival of the fittest
g Q:‘ﬁgé £330
70660918985, + '

Variations

. SVFZOD
70660918986.

Inheritance of characters

B NI0BEY OFETTOD
70660918987 ¥ '

High rate of population growth
BT 0T g 968 HB Bew

70660918988, ¥ s

Question Number : 115 Question Id : 7066094773 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Rate and depth of respiration shall mcrease when
D5Ped TH(Bod T DO WSH VDD
Options :
Oxygen concentration increases

v JK < ‘lo - . "":-_
0660018080, % SIS FTOR BBAIYE



CO, concentration increases

CO, & SZ B &0 DBASTHE
70660918990, ¢ SR RN & ™

Bicarbonate concentration increases
— - IL'D ae =L = - A
70660918991, * = 520798 e 2EASYE

Bicarbonate concentration decreases

876738 Jrow SASHED
70660918992, % & A

Question Number : 116 Question Id : 7066094774 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

p-oxidation 1s well established for
Ber-wdystn 38 oo e SySEBoTESE

Options :

Saturated fatty acids

Sodd g wsfren
70660918993, ¥ ¢

Unsaturated fatty acids
w0 g &553 SsITeen
70660918994, % v
Cellulose

Reng 5
70660918995, %

Glycogen

B35S
70660918996, #

Question Number : 117 Question Id : 7066094775 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Which of the following cells do not show the process of protein synthesis as
melanocytes
& (808 @ Sren SrolE)He JoFher [(H(EaDSD SOA s0iS.
Options :
Melanocytes
DoSpww
70660918997, % '
Leydig cells

HER Segeen
70660918998, %

Erythrocytes
QS8 Segeen
70660918999, ¥

Leucocytes
o738 R
70660919000. ¥

Question Number : 118 Question Id : 7066094776 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Much of the global photosynthesis is carried out by
T B E S 88 I35 SoRrA(Sw 38 GP0° BRJRHS0H.

Options :
Algae
FJereen
70660919001, ¥
Bryophytes
[y RTE=y Ay
IEu'O_TL 20

70660919002, #



Preridophytes

SEE B
70660919003. %

Angiosperms

wSHhs Ing e
70660919004, % ¢

Question Number : 119 Question Id : 7066094777 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Part of the stem from which the leaf arises is
odo G @ TR ok S0 aE)DoIH

Options :
Axial

27-{erslo)
70660919005, *

Inter node

e a:‘oc’;i:g e late}
70660919006. ¥

Node
Eale SHod
70660919007, ¥

Tip
(R fo
70660919008, ¢

Question Number : 120 Question Id : 7066094778 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A flower which can be divided into equal parts in only one plane 1s described as
2B of Swo Ho& SEED S TrrerT DTReIE JIDTglo

Options :



Actinomorphic
@3%35*55}16;,5

70660919009. #

Zygomorphic
efaRveulont-
70660919010. ¢ °-’

Asymmetrical
@%‘%ﬁdﬁmé
70660919011, #

Floret
73S
70660919012, %

Question Number : 121 Question Id : 7066094779 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The special feature of angiosperms is the occurrence of
e Doy DA &0 I'_zé-égé © 80

Options :

Syngamy
70660919013, # R/

Porogamy

R
70660919014, #

Siphanogamy

2HSTR
70660919015. #

Triple fusion

L&&’:coﬁuﬂﬁo
70660919016, ¥



Question Number : 122 Question Id : 7066094780 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Endodermis 1s absent in
©osH 10 S*R0D SoDIE

Options :

Dicot leaf and monocot root

B EE &g S|S0 $HBcwo EEF DI
70660919017, %

Monocot leaf and dicot stem

QESE Dz JiSo HBH &g Hu scodo
70660919018, ¥ C N

Monocot stem and monocot leaf

QESTF O stod0 HBOT EST D S(So
70660919019, ¥

Dicot leaf and monocot leaf
AN~ e S|S0 HBo® AESE Do S|S0
70660919020, ¢

Question Number : 123 Question Id : 7066094781 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which are the following process are affected when the stomata are closed
J(S Sojgren SIS TonS Dode &3 Bod (BB B (BT HPYD

Options :
Upward moment of mineral water
HAZEen, AL Bog), 238 7 o @356&3
70660919021, % Qo

Assimilatory activity of mesophyll

10660919022, ¥ S|S0 ook, Q:‘ﬁrgoﬁéo’ea 58



Respiratory activity of cells

Sere  GIoE)- T8
70660919023, % e

Translocation of organic solvents

S SPgre G, JeTeosBESe
70660919024, % = & (O

Question Number : 124 Question Id : 7066094782 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
The bulk moment of substances through the vascular tissue of the plant is

InEO CNOW (H38e Eeamroo PIoE &N IgY wdE (S5
Options :

Transduction
[T EES

70660919025, ¢ = ¥ &
Transpiration
€725 &TAS
70660919026, ¥ =

Translocation

= -
TPTOSOESD
70660919027, ¥ @

Transcription
70660019028, % ENEDIO

Question Number : 125 Question Id : 7066094783 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of following is a micronutrient in the plant
D (80d 86 In¥EE0 a’m%ﬁﬁ&go

Options :



Magnesium

A& CHO
70660919029, % =%

Zinc
'_9 —
70660919030, ¥ SO8

Potassium
;‘E L
10660010031, v 50 ET&E50
Calcium
?Qcﬁ:o
70660919032, %

Question Number : 126 Question Id : 7066094784 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
During Photosynthesis

8860 I35 SO (S oHo

Options :

Water gets oxidized and CO, gets reduced

A% wbimS HBo CO, Eowrste [odD
70660919033, %

Water gets reduced and CO, gets oxidized

0660010034, v D BowrsSes SHBcke CO, w)sse Sowd

Both water and CO, get reduced

D& B CO, Tokr Erae EoHESmo BodHDd
70660919035. ¥ '

Both O, and CO, get oxidized

8 HBosw CO; Bodkr Hrae wdiEssm JoHD
70660919036, %



Question Number : 127 Question Id : 7066094785 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

All changes that an organism goes through its life cycle. from the seed to senescence in
called

08 20 &I £38 JFo o Dmo Hod FFEgo SEH FIR S OD
Options :

Growth
el g alD
70660919037. ¢ =
Development

0o
70660919038, % i

Differentiation

DBESo TodHe
70660919039, %

Plasticity
DI
70660919040, %

Question Number : 128 Question Id : 7066094786 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which process of growth is mostly affected by Auxins
s8)J Sos 3B B, DS AE)S DEOSOD
Options :

Stem elongation

o080 G
70660919041, %

Elongation of cells
Sere OGO
70660919042, %



Cell division

=<
70660919043, % Sea T

Cell mutation

55353656%6
70660919044, ¢

Question Number : 129 Question Id : 7066094787 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The symbiotic bacterium accommodated in the roots of legumes is
BrirgDe X choos SHdsIo Foto we§scto

Options :
Rizobium
B oo
70660919045, «
Xanthomonas
gbocﬁ‘ﬁﬁmﬁ

70660919046, #

Agro bacterium

¥A*ergBado
70660919047, =

E. coli
z. §%

70660919048, #

Question Number : 130 Question Id : 7066094788 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is a proof to say that genes are located on the chromosome
sdgJer (SRS DeR 200D 9 JwHnd &Hfod F8ST IERS Dy

Options :



Chromosomes move to opposite poles during cell division

Seadefans abold TSP 55800 Hoe I FDoHD
70660919049. % =

Chromosomes are nucleoproteins

IE53rStS0e0 BHSD FredSr DRSS
70660910050, ¥ © D i

Alterations in chromosomes cause abnormalities in organisms
f === = ™
(3 3rtsow ool m8R Srehen EQ87 SOR ewderdn oo s°800

L ==

70660919051, ¥

Chromosome pair during zygotene

. BACES oo FParEtSHe sder A6Y0DH
70660919052 &

Question Number : 131 Question Id : 7066094789 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The lack operon concept of Jacob and Monod is an example for
8N DB Ircde oof LT PSS 308 o acrSese
Options :

Inducible operon

208 RS - aBoSS
70660919053 ¢

Repressable operon
BR)ed - aBoS
70660919054, ¥ =

) Inhibitory operon
2 Hwd - ewoeS

-]

70660919055. #

Arabinose operon

esed) S - oS
70660919056, %



Question Number : 132 Question Id : 7066094790 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following technique is used to alter the information content of the genetic
material

&3 @o& DHBCH Ir;Ee o8 LDoTS TS B8 of eSO,

Options :
Gene therapy

5535 »fjéesnj
70660919057, ¥

Tissue culture

Eeoce 5%5&50
70660919058, # :

Genetic engineering
‘\ -
B POSBES
70660919059. ¥
DNA fingerprinting

DNA &058 [&oedoR
70660919060, ¥ =

Question Number : 133 Question Id : 7066094791 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The wviral disease that may lead to cancer 1s
al ™ L = F Nt 5 = -
52580 ceB8ohre IS 56
Options :

70660919061, % TLLY

Hepatic B
- =
70660919062, ¥ THRES - 8



Polio

SFOST
70660919063, ¥

Rabies

o it A1)
70660919064, ¥



